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d) ..... -State.the Ma4imlrm P.ower Trapsfertheorem. ,,-...,, i .- ..i r.. '.\, r"'- .... .-[]J t ...,

eji".rDrawthe equivaient circuit of anide-aldiode and that of a piecewisp llnsar modet,o,f it- '

0 Show the current paths in a full wave bridge rectifier for a sinusoidal input during

1.a) Distinguish between ideal and practical voltage source?
'b) State Ohm's law and give an example.

c) What is resonance in electric circuits?

positive and negative half cycles.

PART-B

g) Define operating point of a BJT. List the parameters against the variations of which the

operating point needs to be stabilized. 121

h) Define hreand ho" of a BJT in CE configuration. Mention their units. t3]

1;,,' .Olaw the symbols:bf p-channel JFET,'NPN-BJT? tunnel diode and varactor diode. , , " 
'.
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b) Derive the expression
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Figure: I
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3.a)

b)

An inductanoe of 0.5H, a resistance of 5 ohms, and a capacitance of ti pF are in series

across a220Y,50H2 AC supply. Find the voltage across each element and total current

supplied by thi supply and draw the phasor diagram.for the circuit' 
.. -,.-L- ^ ^-r D :^

i",;:41i,;qtts. Find"
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Figure:3
OR

5.a) Derive the expression for resonant frequency, half power frequencies of series RLC
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Figure:2

4.a). E5p-lain the ppg,9durg to draw.the locUi diagraT O.{R=L series cirquit' when L is varvingr.

b)i,,.,.A,ply ,up.r.poriiion theorern goi.tfr* n.tioitt.s-lrown in fiSire;'3; and obtain qurrent,|:6i:i+)oinrpuounia.i....ri',,i,,.,,jj.i'.'',,...,,.]:
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Figure: 5

b)ComparethecharacteristicsofCE,CBandCCconfigurationsofaBJT.

.'.\':,,,'.'..,...'
diagram explain tunuelling

OR
n-channel JFET in Common

10.a) -'Compare BJT'and'JFET in allsspect*'

ui iWitrrtlh:. h:lp of,relevant en3igv,band

Tunnel diode.

: I i, ,

phenomenon ln'a.;
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source configuration. Show
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7 a) Explain how current flows in a diode under forward biased and reverse biased conditions'

b) compare th. ;;;f;;ance of:

i) Centre tapped transformer type and bridge type full wave rectifiers' 
r<+<t

ii) Capaoitor and fi-section filters' LJ ' J t
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b) Draw the rr-pfu;"*rtequiual"nt.irruit of a BJf in CE configuraiion. [5+5]

OR

9.a) For the voltage divider biased BJT :lo* below in figure 5' determine the operating

point. Assume B to be 50 for the transistor'

i li l':r-.,:: : I

i ii

..."- - i- "...
i ii I'::, .,::'_ i.....,,,..i

i',,-...',. : 
.!


